(3x &% B ]

£1H 2A2H (1)
= 15 N PN RILR L SFaT™
No = LR it AimEE— HERAE
B e al M heEthR ERAEE BEKEE
1] 9:30~10:40 |D BEZBHAXE E|A BB ExEKRPE|H BEFF<HALF| A4 W JIxEHZ
2 110:55~12:05 |@® & [ X @ik B BRMERx/KEBEZ[LY XKt xkEE—|O jEMNEExA I
3 (12:20~13:30 (@ MBI xEELRF|C METBxFHNEE|D B ERXXxT H|/\F ABXEEEE
4 | 13:45~14:55 |@ #RAIZExHEREKD B JIXFEAEZE|Z N\ F x5S F|Z /MLUAEXE KM
5| 15:10~16:20 ® E ) i
_OOBE | EOBE
REIRS REIRS
6 | 16:50~18:00 ® F 7N ~
_GomE | romE
REIRS REIRS
¥£2H 2A38(A)
= 4 E—\'—
No = 5 SR BEHKEE IR
1| 9:30~10:40 @ G ~
2 | 10:55~12:05 H F
DODEE GHOBE FFOBE
3K REBSR | 3RE BEHESR| RTEMEs®
3]12:35~13:45 = <
_SOBE _<OBE
REIRS REIRS
4 | 14:00~15:10 ©) I 1)
©o)iE | D& _UDE
A&z A&z REIZRS




